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A (X ##E)

(From X company)

B (Y ##5)

(From Y company)

Xthe Yi3EoHRFERERET A &iIciibE L,

X company and Y company have decided to develop a new car jointly.
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EoTLHEE W,

Show the graph and explain to B that if you
develop an RV that's in demand, it will be a
hit.

@b ET > T &,

Make appropriate responses as you listen to
B.
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Acknowledge B's opinion but disagree with
him. Tell B that you cannot compete with
other companies ten years hence by just
selling general cars.

QADEBEREEDTHLSL, L TK
PrEV, HRBEXDPILZDOTHT LS
WWERERRWEE-TLHEE Y,

Acknowledge A’s opinion but disagree with
him. Tell him that his idea will not
necessarily be good because developing an
RV will be expensive.

@RV &0 b, BELLEESS 5 —
BEE - LR LTOERVEE -
T & W,

Tell A that you should develop general cars
which have a stable demand rather than RVs.
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—fE# Vo FA L+ general car

v Mg b P L & D0 A hit product
+ %~ sedan

RV recreational vehicle
BE#HE Wi ES L e light car
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